

Applied Mathematics & Information Sciences An International Journal

> © 2012 NSP Natural Sciences Publishing Cor.

## Some Results on the Gamma Function for Negative Integers

Brian Fisher<sup>1</sup> and Adem Kılıçman<sup>2</sup>

<sup>1</sup> Department of Mathematics, University of Leicester, Leicester, LE1 7RH, England
 <sup>2</sup> Department of Mathematics and Institute for Mathematical Research, University Putra Malaysia, Selangor, Malaysia

Received: Jul 8, 2011; Revised Oct. 4, 2011; Accepted Oct. 6, 2011 Published online: 1 May 2012

**Abstract:** The Gamma function  $\Gamma^{(s)}(-r)$  is defined by  $\Gamma^{(s)}(-r) = N - \lim_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-r-1} \ln^{s} t e^{-t} dt$  for r, s = 0, 1, 2, ...,where N is the neutrix having domain  $N' = \{\epsilon : 0 < \epsilon < \infty\}$  with negligible functions finite linear sums of the functions  $\epsilon^{\lambda} \ln^{s-1} \epsilon$ ,  $\ln^{s} \epsilon : \lambda < 0$ , s = 1, 2, ... and all functions which converge to zero in the normal sense as  $\epsilon$  tends to zero. In the classical sense *Gamma* functions is not defined for the negative integer. In this study, it is proved that  $\Gamma(-r) = \frac{(-1)^{r}}{r!} \phi(r) - \frac{(-1)^{r}}{r!} \gamma$  for r = 1, 2, ..., where  $\phi(r) = \sum_{i=1}^{r} \frac{1}{i}$ . Further results are also proved.

Keywords: Gamma function, neutrix, neutrix limit.

## 1. Introduction

In mathematics, there are several special functions that have particular significance and many applications. One of the well known such function is the Gamma functions, see for example, [3]. The gamma function  $\Gamma(x)$  is considered as a generalization of the factorial and  $\Gamma(x)$  is usually defined for x > 0 by the integral

$$\Gamma(x) = \int_0^\infty t^{x-1} e^{-t} dt$$

In the classical sense since  $\Gamma(0) = \frac{\Gamma(1)}{0}$ , then it follows that  $\Gamma(n)$  is not defined for integers  $n \leq 0$ . However the extension formula gives finite values for  $\Gamma(z)$ , for  $\Re(z) \leq 0$  since  $\Gamma(z)$  is analytic everywhere except at z = 0, -1, -2, and the residue at z = k is given by

$$\operatorname{Res}_{z=k}\Gamma(z) = \frac{(-1)^k}{k!}.$$

Now if we consider x > 0, then it follows that

$$\Gamma(x+1) = x\Gamma(x). \tag{1}$$

Now the equation (1) can then be used to define  $\Gamma(x)$  for x < 0 and  $x \neq -1, -2, \ldots$  and further this is one of the

most important formulas that was satisfied by the Gamma function.

It follows easily by induction that if -n < x < -n+1 then

$$\Gamma(x) = \int_0^\infty t^{x-1} \left[ e^{-t} - \sum_{i=0}^{n-1} \frac{(-t)^i}{i!} \right] dt$$

Note that in the classical sense *Gamma* functions is not defined for the negative integers. It was then proved in [2] that

$$\Gamma^{(s)}(x) = \operatorname{N-lim}_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{x-1} \ln^{r} t \, e^{-t} \, dt$$

, for s = 0, 1, 2, ... and  $x \neq 0, -1, -2, ...$  This suggested that  $\Gamma^{(s)}(-r)$  could be defined by

$$\Gamma^{(s)}(-r) = \operatorname{N-lim}_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-r-1} \ln^{s} t \, e^{-t} \, dt \tag{2}$$

for  $r, s = 0, 1, 2, \ldots$ , where N is the neutrix, see [1], having domain  $N' = \{\epsilon : 0 < \epsilon < \infty\}$  with negligible functions finite linear sums of the functions

 $\epsilon^{\lambda} \ln^{s-1} \epsilon, \ \ln^s \epsilon: \ \lambda < 0, \ s = 1, 2, \dots$ 

<sup>\*</sup> Corresponding author: A. Kılıçman: akilicman@putra.upm.edu.my

and all functions which converge to zero in the normal sense as  $\epsilon$  tends to zero. It was proved that the neutrix limit in equation (1) existed for r, s = 0, 1, 2, ..., see [11,13].

We note that, Jack Ng and van Dam applied the neutrix calculus, in conjunction with the Hadamard integral, developed by van der Corput, to the quantum field theories, in particular, to obtain finite results for the coefficients in the perturbation series. They also applied neutrix calculus to quantum field theory, and obtained finite renormalization in the loop calculations, see [4] and [5].

Now by using the equation (2) as a definition, the following theorem was proved in [2], but we give here a simpler proof.

Theorem 1. The  $\Gamma^{(s)}(0)$  exists and given by

$$\Gamma^{(s)}(0) = \frac{\Gamma^{(s+1)}(1)}{s+1}$$
(3)

for  $s = 0, 1, 2, \ldots$  In particular,

$$\Gamma(0) = \Gamma'(1) = -\gamma, \tag{4}$$

t

where  $\gamma$  denotes Euler's constant which is defined as

$$\gamma = \lim_{n \to \infty} \sum_{k=1}^{n} \left( \frac{1}{k} - \ln(n) \right).$$

Proof. We have

$$\int_{\epsilon}^{\infty} t^{-1} \ln^s t e^{-t} dt = \frac{1}{s+1} \int_{\epsilon}^{\infty} e^{-t} d \ln^{s+1}$$
$$= \frac{e^{-\epsilon} \ln^{s+1} \epsilon}{s+1} + \frac{1}{s+1} \int_{\epsilon}^{\infty} \ln^{s+1} t e^{-t} dt$$

and so

$$\begin{split} \Gamma^{(s)}(0) &= \mathrm{N-}\lim_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-1} \ln^{s} t e^{-t} dt \\ &= \frac{1}{s+1} \int_{0}^{\infty} \ln^{s+1} t e^{-t} dt = \frac{\Gamma^{(s+1)}(1)}{s+1}, \end{split}$$

proving equation (3). Since  $\Gamma^{(s+1)}(1)$  is defined in the normal sense,  $\Gamma^{(s)}(0)$  is therefore defined for  $s = 0, 1, 2, \dots$ The equation (4) follows on noting that  $\Gamma'(1) = -\gamma$ .

The following theorem was also proved in [2], but we again give here a simpler proof.

Theorem 2. For 
$$r = 1, 2, ..., \Gamma(-r)$$
 is given by  

$$\Gamma(-r) = \frac{(-1)^r}{rr!} - \frac{1}{r}\Gamma(-r+1).$$
(5)  
Proof. We have  

$$\int_{-\infty}^{\infty} t^{-r-1}e^{-t} dt = -\frac{1}{r} \int_{-\infty}^{\infty} e^{-t} dt^{-r}$$

$$\int_{\epsilon}^{\infty} t^{-r-1} e^{-t} dt = -\frac{1}{r} \int_{\epsilon}^{\infty} e^{-t} dt^{-r}$$
$$= \frac{\epsilon^{-r} e^{-\epsilon}}{r} - \frac{1}{r} \int_{\epsilon}^{\infty} t^{-r} e^{-t} dt$$

and so

$$\begin{split} \Gamma(-r) &= \mathrm{N-lim}_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-r-1} e^{-t} \, dt \\ &= \frac{(-1)^r}{rr!} - \frac{1}{r} \int_{0}^{\infty} t^{-r} e^{-t} \, dt \\ &= \frac{(-1)^r}{rr!} - \frac{1}{r} \Gamma(-r+1), \end{split}$$

proving equation (4) for  $r = 1, 2, \ldots$ 

## 2. Main Results

We now prove some further results for the Gamma function.

Theorem 3. For  $r = 1, 2, ..., \Gamma(-r)$  exists and given by

$$\Gamma(-r) = \frac{(-1)^r}{r!} \phi(r) + \frac{(-1)^r}{r!} \Gamma(0)$$
  
=  $\frac{(-1)^r}{r!} \phi(r) - \frac{(-1)^r}{r!} \gamma$  (6)

where  $\phi(r) = \sum_{i=1}^{r} \frac{1}{i}$ . Proof. When r = 1, equation (6) reduces to equation (5) and so equation (6) holds when r = 1. Now assume that equation (6) holds for some r. Then using equation (5) and our assumption, we have

$$\Gamma(-r-1) = \frac{(-1)^{r+1}}{(r+1)(r+1)!} - \frac{1}{(r+1)}\Gamma(-r)$$
$$= \frac{(-1)^{r+1}}{(r+1)(r+1)!} + \frac{(-1)^{r+1}}{(r+1)!}\phi(r) - \frac{(-1)^{r+1}}{(r+1)!}\gamma$$
$$= \frac{(-1)^{r+1}}{(r+1)!}\phi(r+1) - \frac{(-1)^{r+1}}{(r+1)!}\gamma$$

and so equation (6) is true for r + 1. Equation (6) now follows by induction for  $r = 1, 2, \ldots$ 

In the next we prove the existence of the derivative for  $\Gamma(-r).$ 

Theorem 4. The derivative is given by

$$\Gamma'(-r) = \sum_{i=1}^{r} \frac{(-1)^r}{ir!} \phi(i) - \frac{(-1)^r}{r!} \phi(r)\gamma$$
(7)

for r = 1, 2, ...

Proof. We have

$$\int_{\epsilon}^{\infty} t^{-r-1} \ln t \, e^{-t} \, dt = -\frac{1}{r} \int_{\epsilon}^{\infty} \ln t \, e^{-t} \, dt^{-r}$$
$$= \frac{1}{r} \ln \epsilon \, e^{-\epsilon} \epsilon^{-r} - \frac{1}{r} \int_{\epsilon}^{\infty} (t^{-r} \ln t \, e^{-t} - t^{-r-1} \, e^{-t}) \, dt$$

© 2012 NSP Natural Sciences Publishing Cor.

$$\Gamma'(-r) = \operatorname{N-lim}_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-r-1} \ln t e^{-t} dt$$
$$= 0 - \frac{1}{r} \Gamma'(-r+1) + \frac{1}{r} \Gamma(-r)$$
(8)

for r = 1, 2, ...

Now assume that equation (7) holds for some r. Then from our assumption and equations (6) and (8), we have

$$\begin{split} \Gamma'(-r-1) &= -\frac{1}{r+1}\Gamma'(-r) + \frac{1}{r+1}\Gamma(-r-1) \\ &= \sum_{i=1}^{r} \frac{(-1)^{r+1}}{i(r+1)!}\phi(i) - \frac{(-1)^{r+1}}{(r+1)!}\phi(r)\gamma \\ &+ \frac{(-1)^{r+1}}{(r+1)(r+1)!}\phi(r+1) - \frac{(-1)^{r+1}}{(r+1)(r+1)!}\gamma \\ &= \sum_{i=1}^{r+1} \frac{(-1)^{r+1}}{i(r+1)!}\phi(i) - \frac{(-1)^{r+1}}{(r+1)!}\phi(r+1)\gamma \end{split}$$

and so equation (7) holds for r + 1. Equation (7) now follows by induction.

Theorem 5. For s = 1, 2, ..., $\Gamma^{(s)}(-1) = \sum_{i=1}^{s} \frac{s!}{(i+1)!} \Gamma^{(i+1)}(1) + s!(\gamma - 1).$  (9)

Proof. We have

$$\int_{\epsilon}^{\infty} t^{-2} \ln^{s} t \, e^{-t} \, dt = -\int_{\epsilon}^{\infty} \ln^{s} t \, e^{-t} \, dt^{-1}$$
$$= \ln^{s} \epsilon \, e^{-\epsilon} \epsilon^{-1} - \int_{\epsilon}^{\infty} (t^{-1} \ln^{s} t \, e^{-t} - st^{-2} \ln^{s-1} t \, e^{-t}) \, dt$$

and it follows that

$$\Gamma^{(s)}(-1) = N - \lim_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-2} \ln^{s} t e^{-t} dt$$
  
= 0 - \Gamma^{(s)}(0) + s\Gamma^{(s-1)}(-1), (10)

for s = 1, 2, ...

Now assume that equation (9) holds for some *s*. Then from our assumption and equations (3) and (10), we have

$$\Gamma^{(s+1)}(-1) = -\Gamma^{(s+1)}(0) + (s+1)\Gamma^{(s)}(-1)$$

$$= -\frac{1}{s+2}\Gamma^{(s+2)}(1) + \sum_{i=1}^{s} \frac{(s+1)!}{(i+1)!}\Gamma^{(i+1)}(1)$$
$$+(s+1)!(\gamma-1)$$
$$= \sum_{i=1}^{s+1} \frac{(s+1)!}{(i+1)!}\Gamma^{(i+1)}(1) + (s+1)!(\gamma-1)$$

and so equation (9) holds for s + 1. Equation (9) now follows by induction. More generally we have the following theorem.

Theorem 6. For s = 1, 2, ...,

$$\Gamma^{(s)}(-r) + \frac{1}{r}\Gamma^{(s)}(-r+1) = \frac{s}{r}\Gamma^{(s-1)}(-r).$$
(11)

Proof. We have

$$\int_{\epsilon}^{\infty} t^{-r-1} \ln^{s} t \, e^{-t} \, dt = -\frac{1}{r} \int_{\epsilon}^{\infty} \ln^{s} t \, e^{-t} \, dt^{-r}$$
$$= -\frac{1}{r} \int_{\epsilon}^{\infty} (t^{-r} \ln^{s} t \, e^{-t} - st^{-r-1} \ln^{s-1} t \, e^{-t}) \, dt$$
$$+ \frac{1}{r} \ln^{s} \epsilon \, e^{-\epsilon} \epsilon^{-r}$$

and it follows that

$$\Gamma^{(s)}(-r) = \operatorname{N-lim}_{\epsilon \to 0} \int_{\epsilon}^{\infty} t^{-r-1} \ln^{s} t e^{-t} dt$$
$$= 0 - \frac{1}{r} \Gamma^{(s)}(-r+1) + \frac{s}{r} \Gamma^{(s-1)}(-r),$$

proving equation (11).

Theorem 7.

$$\begin{split} \Gamma^{(s)}(-r) &= \frac{s}{r!} \sum_{i=0}^{r-1} (-1)^i (r-i-1)! \Gamma^{(s-1)}(-r+i) \\ &+ \frac{(-1)^r}{r!} \Gamma^{(s)}(0) \\ &= \frac{s}{r!} \sum_{i=0}^{r-1} (-1)^i (r-i-1)! \Gamma^{(s-1)}(-r+i) (12) \\ &+ \frac{(-1)^r}{(s+1)r!} \Gamma^{(s+1)}(1), \end{split}$$

for r, s = 1, 2, ...

Proof. When r = 1, equation (12) reduces to

$$\Gamma^{(s)}(-1) = s\Gamma^{(s-1)}(-1) - \Gamma^{(s)}(0),$$

and so equation (12) holds by equation (11) when r = 1 for  $s = 1, 2, \ldots$ .

Now assume that equation (12) holds for some r and s = 1, 2, ... Then using equation (11) and our assumption, we have

$$\Gamma^{(s)}(-r-1) = \frac{s}{r+1}\Gamma^{(s-1)}(-r-1) - \frac{1}{r+1}\Gamma^{(s)}(-r)$$
$$= \frac{s}{r+1}\Gamma^{(s-1)}(-r-1)$$
$$-\frac{s}{(r+1)!}\sum_{i=0}^{r-1}(-1)^{i}(r-i-1)!\Gamma^{(s-1)}(-r+i)$$

$$\begin{aligned} &-\frac{(-1)^r}{(r+1)!}\Gamma^{(s)}(0)\\ &=\frac{s}{r+1}\Gamma^{(s-1)}(-r-1)\\ &-\frac{s}{(r+1)!}\sum_{i=1}^r(-1)^i(r-i)!\Gamma^{(s-1)}(-r+i-1)\\ &-\frac{(-1)^r}{(r+1)!}\Gamma^{(s)}(0)\\ &=\frac{s}{(r+1)!}\sum_{i=0}^r(-1)^i(r-i)!\Gamma^{(s-1)}(-r+i-1)\\ &+\frac{(-1)^{r+1}}{(r+1)!}\Gamma^{(s)}(0).\end{aligned}$$

and so equation (12) holds for r + 1 and s = 1, 2, ...Equation (12) now follows by induction.

Further for similar results on the neutrix products of distributions, see [6], [7], [9], [12] and [13]. In particular for the composition of singular distributions, see [16].

**Acknowledgement:** The paper was prepared when the first author visited University Putra Malaysia therefore the authors gratefully acknowledge that this research was partially supported by the University Putra Malaysia under the Research University Grant Scheme 05-01-09-0720RU.

## References

- J. G. van der Corput, *Introduction to the neutrix calculus*, J. Analyse Math., 7(1959-60), 291–398.
- [2] B. Fisher and Y. Kuribayashi, Neutrices and the Gamma function, J. Fac. Ed. Tottori Univ., 36(1-2)(1987), 1–7.
- [3] I. N. Sneddon, Special functions of mathematical physics and chemistry, Oliver & Boyd, (1956).
- [4] Y. J. Ng and H. van Dam, *Neutrix calculus and finite quantum field theory*, Journal of Physics A, vol. 38, no. 18, pp. L317–L323, 2005.
- [5] Y. J. Ng and H. van Dam, An application of neutrix calculus to quantum theory, International Journal of Modern Physics A, vol. 21, no. 2, pp. 297–312, 2006.
- [6] B. Fisher and A. Kılıçman, A commutative neutrix product of ultradistributions, Integral Transforms and Spec. Funct., 4(1-2)(1996), pp. 77–82.
- [7] B. Fisher and A. Kılıçman, On the composition and neutrix composition of the delta function and powers of the inverse hyperbolic sine function, Integral Transforms Spec. Funct., 21(12)(2010), pp. 935–944.
- [8] B. Fisher and A. Kılıçman, On the neutrix composition of delta and inverse hyperbolic sine functions, Journal of Applied Mathematics, Volume 2011 (2011), Article ID 612353, 12 pages doi:10.1155/2011/612353.
- [9] A. Kılıçman, A Note on the Certain Distributional Differential Equations, Tamsui Oxf. J. Math. Sci., 20(1)(2004), pp. 73–81.
- [10] Adem Kılıçcman, A Comparison on the Commutative Neutrix Products of Distributions, Journal of Mathematical

and Computational Applications, **8**(3)(2003), pp. 343–351. MR1981781 (2004d:46047)

- [11] A. Kılıçman, Some results on the non-commutative neutrix product of distributions and  $\Gamma^{(r)}(x)$ , Bull. of Malaysian. Math. Soc., **23(1)**(2000), pp. 69–78.
- [12] A. Kılıçman, A comparison on the commutative neutrix convolution of distributions and the exchange formula, Czechoslovak Mathematical Journal, 51(3)(2001), pp. 463– 471.
- [13] A. Kılıçman, On the commutative neutrix product of distributions, Indian Journal of Pure and Applied Mathematics, 30(8)(1999), pp. 753–762.
- [14] A. Kılıçman and H. Eltayeb. A note on defining singular integral as distributions and partial differential equations with convolutions terms, Mathematical and Computer Modelling, 49(2009), 327–336.
- [15] A. Kılıçman and B. Fisher, *The commutative neutrix product* of  $\Gamma^{(r)}(x)$  and  $\delta^{(s)}(x)$ , Punjab J. Math., **31**(1998), pp. 1– 11. MR1720297 (2000g:46055)
- [16] A. Kılıçcman and B. Fisher, Some Results on the Composition of Singular Distribution, Applied Mathematics & Information Sciences (AMIS), 5(3)(2011), pp. 597–608.



**Brian Fisher** is a leading fixed point theorist and also in the Neutrix Calculus. Brian Fisher was born in England on January 27, 1936. He was educated at Wolverhampton Grammar School from 1947 to 1955. He went to Oxford University in 1957 getting a B.A., class 1 in mathematics in 1960 and later his D. Phil. He went to the Uni-

versity of Leicester as a lecturer in 1961, being promoted to senior lecturer in 1982 and reader in 1988. Dr. Fisher retired in 2001 but still goes to the department to do research. Dr. Brian Fisher has had 5 official Ph.D. students and has helped about 20 others with their Ph.D.'s.



Adem Kilicman is a full Professor at the Department of Mathematics, Faculty of Science, University Putra Malaysia. He received his B.Sc. and M.Sc. degrees from Department of Mathematics, Hacettepe University, Turkey and Ph.D from Leicester University, UK. He has joined University Putra Malaysia in 1997 since then working with

Faculty of Science and He is also an active member of Institute for Mathematical Research, University Putra Malaysia. His research areas includes Functional Analysis and Topology..